Squaring the polynomial (—2xz + 7):



Squaring the polynomial (—2xz + 7):

(22472 = (—22+7) (—22+7)



Squaring the polynomial (—2xz + 7):

(22+7)2 = (2247 (—22+7)
= 422



Squaring the polynomial (—2xz + 7):

(22 +7)2=(224+7)-(—22+7)
=4z + (—14)z



Squaring the polynomial (—2xz + 7):

(22472 = (—22+7) - (—22+7)
= 42% + (—14)z + (- 14)x



Squaring the polynomial (—2xz + 7):

(22+7)2=(—22+7) (22 +7)
= 42% + (—14)z + (—14)x + 49



Squaring the polynomial (—2xz + 7):

(22+7)2=(-22+7) (22 +7)
= 422 + (—14)z + (—14)x + 49



Squaring the polynomial (—2xz + 7):

(22+7)2=(-22+7) (22 +7)
= 422 + (—14)z + (—14)x + 49
= 42 — 287 + 49



